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B (mE A— 38|39 77 | 90 | 680

2 |48 8sh 39 | 40 79 | 80 | 7110

3 | B 36|37 73 | +1.0 | 7140

4 |Fh iR #8 45|43 88 | 120 | 7160

5 |8 = 37|42 79 20 | 770

6 |Klt =EZ 44 | 40 84 | 60 | 7180

7 | EE 46 | 40 86 80 | 7180

8 | BE& 40 | 44 84 | 50 | 7190

9 |/\BE BX 46 | 43 89 | 100 | 7190

10 |\ EBAER 47143 90 | 100 | 800

11 |5S@ ®83 45|40 85 50 | 800

12 |BRS B 48 | 44 92 | 120 | 800

13 W BE 41 |37 78 | +20 | 800

14 (D)l Z=H 48 | 39 87 | 60 | 810

15 (lliwm % 48 | 42 90 | 90 | 810

16 &% B8 44 | 42 86 50 | 810

17 ("B % 47|43 90 | 90 | 810

18 |K#E #B— 44 | 49 93 | 120 | 810

10 &0 B2 43 | 44 87 | 50 | 820

20 (& = 47|38 85 30 | 820

21 |&% o 48 | 44 92 | 100 | 820

22 |1ERN 2 46 | 43 8 | 710 | 820

23 |8 F|E 43 |47 90 | 7O | 830

24 |58 s 44 | 42 86 30 | 830

25 |WAR xR— 46 | 44 90 | 7O | 830
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26 |[EZM 1BiE 49 | 45 94 110 | 830

27 |TMKR IEf8 46 | 47 93 | 100 | 830

28 |& 5 41 |47 88 50 | 830

29 AKX Fb 50 |45 95 | 120 | 830

30 |[KIF & 4748 95 | 120 | 830

31 |08 BB 4547 92 90 | 830

32 |V 956 44 | 42 86 30 | 830

33 [ A& B 43 | 45 88 50 | 830

34 R B 46 | 46 92 80 | 840

35 |2H =& 44 | 46 90 | 60 | 840

36 |RlF =8I 42 |47 89 | 40 | 850

37 |#&E ZEX 45|45 90 | 50O | 850

38 |‘FH BF 47 | 41 88 30 | 850

39 |®mEB —2 44 | 46 90 | 50O | 850

40 |fglE ZE 45|44 89 | 40 | 850

41 |BEX H— 53|43 96 | 100 | 86.0

42 |BE #8X 50|45 95 80 | 870

43 |BN 08 44 | 44 88 10 | 870

44 |#8K [EZ 50 | 46 96 90 | 870

45 |8 E— 50 | 50 100 [ 110 | 890

46 |[BE O 49 48 97 | 80 | 890

47 |BH B 49 | 52 101 | 120 | 890

48 |'BE FBBA 50|45 95 50 | 900

49 | K% & 47 | 52 99 90 | 900

50 [BmR = 53|49 102 | 120 | 900
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51 |88 &K= 50|52 102 110 | 910

52 LN F&x 52 | 50 102 110 | 910

53 [P FORK 56 | 46 102 | 100 | 920

54 P& = 58|48 106 | 120 | 940

55 |8 #08I 54 | 52 106 | 120 | 940

56 |8l & 54 | 53 107 | 100 | 970

3/5R=L




BUAYEU—=D3T

JUNRE: ABBIMBOSX

BIES AR ¢ ¥Rk 29545168 (H)

BAI-—X: B @8 IBRIRRETIE © R HIE

Bi%I3A . BEAR BRlgh : 1£588 SHIAL

HDCPLFR : B 18 &M 18 Y7 : 18 S 24 A
Eog O A
D/ O A
gt - 24 A

&1tz SNEB Bk | & GROSS | HDCP NET s

{Bh5 |BH  RREE 49 (42 91 [170 | 7140

2 |XB ® 52 42 94 | 180 | 760

3 |2 283 45|49 94 1180 | 7160

4 |RR 1B 40 | 50 90 |130 | 77O

5 |INgE =17 47|45 92 140 | 780

6 |WF RSk 46 | 53 99 | 180 | 810

7 O|IRK #® 42 | 54 96 | 140 | 820

8 |F£ IEA 47149 96 | 130 | 830

9 |BM I 47|49 96 | 130 | 830

10 /Wi 8= 5249 101 {180 | 830

11 [J\FEH =& 5149 100 | 160 | 840

12 (BK i 48 | 49 9r | 130 | 840

13 (88 E— 5147 98 | 140 | 840

14 |26 BE 54 |45 99 | 130 | 860

15 (@I &z 51|50 101 | 150 | 860

16 |hH &S 52|57 109 (170 | 920

17 |[HF #X 55|50 105 130 | 920

18 & BB 61 |46 107 | 150 | 920

19 |K¥E Bt 59 |52 111 180 | 930

20 |[MK BE% 55|52 107 | 130 | 940

21 |A+E =3 55|57 112 | 150 | 970

22 (WX 5T 53| 60 113 | 160 | 970

23 |FI8 8 61 | b4 115 {180 | 970

24 @)l 58 60 | 58 118 | 180 |100.0

n-rxe | JUAS  ZEL 43|49 92 | 160 | 760
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B PR B&E 42 | 43 85 | 190 | 66.0

2 |@m W 49 |44 93 | 250 | 680

3 |vE & 46 | 43 89 | 190 | 700

4 |iRF B 4549 94 |210 | 730

5 |ik#F =it 48 | 46 94 | 200 | 7140

6 |BEB It 52 |57 109 | 330 | 7160

7 IR OEA 51|47 98 [210 | 7rr0O

8 |BFh BEX 50 (48 98 (210 | 7r0O

9 |/ 8= 5743 100 [ 190 | 810

10 (W38 = 47 | 53 100 [ 190 | 810

11 [BiE s 53|55 108 | 260 | 820

12 |R% IEA 55| 46 101 | 190 | 820

13 & H=R 56 | 49 105 | 200 | 850

14 |#&B 5AE 53 | 56 109 240 | 850

15 (WP R 54 |54 108 [210 | 870

16 | K~ IE5A 59 | 50O 109 | 200 | 890

17 | K& Bx 53 | 56 109 | 200 | 890

18 |)gd# IEIB 60 | 50O 110 [ 190 | 910

19 MR IEE 52 | 61 113 | 220 | 910

20 [m&x = 62 | 52 114 | 190 | 950

21 B = 54 | 62 116 | 210 | 950

22 |TH R 68 |57 125 {240 |1010
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